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instructions: This exam is
posted on Blackboard for Part | and you will answer questions about tl
to be completed entirely |
vour computer.

1.

Part i: At Home

This part was completed a
Biackboard for use during
it must be submitted to th

Part Ii: In Class (with comp

Before completing Part Ili,
your computer. Then pick

Part lii: In Class (without computer)

1.

o

You may not use ¢

Mame
Section

in three parts: Part 1 is to be completed partly at home using the materials
Bt work in class below; Part Il is

class using vour computer. Part lil is to be

directed to use: You may access your data file for Part | of the &x<am in Blackboard. You may

access the data files posted to Blackboard for the Exam part 11,
It is a violation of the honor code to communicate with other st
during the exam, by any means. Students whose exams show

renorted.
Show all work to s

evidence of your logical process can result in loss of credit. A si
toward process, reasoning and interpretation.

but not for Part il
idents in o out ~f The class
gvidence of coordination will be

jone in Excel. Deletion of
nificant amount of credit goes

upport your reasoning. Primarily, this can ha

When rounding, do not over-round. In general, do not report qoliar amounts beyond the penny.

NMieans should be rounded to one digit more than the original
digits mora. Do not report fractions rounded to single digit exg

round decimals or

two digits, up to four, unless otherwise specified in the problery

if a probiem asks f
addition to stating

without explanations, will not be awarded fuli credit.

You may use a handheld calculator for this portion of the exani
. - !
it is not on a device that connects to the Internet. That means

on your phone or ¢
the exam et the sa
This is Exam D.

Answer the questi
Turn in your papet
of the exam to the

ata; standard deviations to two
13

i
A

# =, and do not

2

assions: .

256

percents to a single digit: 0.57846 ... # 60% or 0.6. Report a minimum of

hen interpret or explain in
ithout solutions, just as solutions

or an explanation, state the solution clearly,
the solution, not in place of. Expianations

[ to the Part | folderin
ill not be gradad in this location,

t home. You can upload the Excel file for Pai
the txam perioc. However, this submission
o “to be graded folder” to receive credit.

uter)

compiete Part Il in class. Return the paper t
up Fare il

vour instructor and put away

\ny calculator is fine, as long as
/ou may not use the calculator
mart watch. You may also not share calculafors with another student taking

ime time.

cns on the paper exam. 5ign the honor cods
copy of the exam to your instructor. Youri
version of Part li that you submitted previo

statement on the next page.
fructor will attach this portion
Iy.




Honor Code Staternent:

i
Mason Honar Code and Academic integrity Pledge: To promote a stro
respect, trust, and fairnesf among all members of the George Masch

desire for greater academijc and personal achievement, |, a student men
pledge not to cheat, plagiarize, steal, or lie in matters related to acade

read and | agree to follow the guidelines laid out in the instructions fo

to participate in the efforts of other students to circumvent these guide

violations of the cade, and will report such efforts in a timely manner.

Student Signature and G#

; {print your name)

agres to abide by the George
ger sense of rutual responsibility,
niversity Community and with the
ber of the university community,
nic work. Furthermore, | have
this exam above ! #lso agree not
lines, or to assist in their

Today's Date




Part lil:

Below you will find screenshots of the set-up for a linear programming
infarmation to answer tha guestions that follow,
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1. Whatis the final maximum profit for planting 3.3 acres of oa
(4 points)
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the problem? (6 points)
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Below you will find a screenshot of the relevant Excel data for a differel
information to answer the guestions that foliow.
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Does the interval you calculated support the claim that men «
why not? (6 points

ce of means problem. Use this

B C D

i Wale Female Difference: Mallf - fermale
E 228 752 529,188 564
e 47 $20,414 $30,005 5319
43 42 425,795 525,248 S847
44 43 $27,844 §27,673 §271
L3 44 $26,661  $26,212 5449
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L3 43 524,524 §24,114 54106
5 49 827,217 §26,282 5935

59 $21,651  §21,153 S48
54 Mean 27,241 526,844 5287
53 StDev. $2,536.45 S$2548.50 § 297.87

=» T-Score  Confidence Level Standard Error
56 2.00e575 a5% S

Is the data dependent or independent? Explain what leads yodl to this conclusion. {6 points)

Use the information provided to calculate the 95% confidencelinterval. (5 points)
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Use the data in the table below to answer the questions that follow.
Preference  Count  Proportion

R 181 45.25%

N 29 7.25%

L 190 47.50%

Z-Scores Confidence Lavels
1,150 75%
1.282 80%
1.645 90%
1.960 95%
2.576 99%

7. Use the data provjded to find the margin of error for the 75%
prefer R. (5 points)
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8. Use the data provided to find the margin of error for the 80%
prefer R. (5 points
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9. What do you notice about the margin of error as the confiden
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Use the information below to answer the questions that follow.
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Sampféns.v'ze Standard Mez 1, Wi
Error 1 _j
n=20 0.6658 | 64 5_]
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10. Explain how the information above supports the claims of thefCentral Limit Theorem. Be as
thorough as possible. {6 points)
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11. Describe a scenarjo is which a cluster sample would be a mordlappropriate choice than a simple

random sample. (f'i points)

13. Why does ananyd‘)ity reduce untruthful responses? (5 points) 7
|
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14. What conditions should be met to substitute a z-score in a cofifidence interval for means instead
of a t-score? (6 points)
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15. Write the Excel formula to find t-score for an 88% confidencelinterval. (5 points)

16. What assumptions are made when using a two-sample pooled t-confidence interval? (4 points)
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